LramMpPIoN
Power & force

Mﬂl’llOCTpVIpOBaHHbIH KaTanor 3anacHbIX YacTemn

Mogenb: T263

53 52

Ne ApTukyn HavnmeHoBaHue K-Bo Ne ApTukyn HanmenoBaHve K-Bo Ne ApTukyn HanmeHosaHve K-s0
1 03010110007 BuHT M5X12 1 27 03030020003 aiika maxosuka M8X1 1 53 03020020053 BuHT M5X12 1
2 70030030426 KpbilwKa umanmHapa 1 28 03040050052 Lait6a 6X15X1.2 2 54 03020020044 BuHT M5X55 2
3 03020020055 BuHT M4X12 1 29 02050160002 CuenneHue 1 55 02090010011 DUnbTp BO3AYLIHBIN 1
4 03010010062 Bont M5X20 4 30 03040050042 LLaiiba 6onTa cuenneHus 2 56 070030040123 Kpbiwka Bo3a. dunbtpa 1
5 70070130032 Uuannap 1 31 02020130001 bonT cuennenna 2 57 02110030079 laiika Kpblwku GunbTpa 1
6 03130010013 Cseua 1 32 80010020078 Kpbiwka cuennexmna 1 58 02110020026 Kpbliwka Ton. 6aka 1
7 02070010032 Mpoknaaka uunuHapa 1 33 70030030164 Mnata KapTepa 1 59 | - LWnaHr 1
8 02020020003 Konbuo noplHesoe 2 34 03040010008 LWaiba 4 2 60 | - WnaHr 1
9 02010020005 MopuweHb 1 35 02070010048 LWaitba marHeto 2 61 02050120002 DUNbLTP TONAUBHDI 1
10 02020150002 Lai6a nanbua nopluHa 2 36 02050030124 MarHeTto 1 62 070050030094 Bak TonaMBHbIN 1
11 02020010004 Maneu, noplHa 1 37 03020020054 Bont M4X20 2 63 03040050022 LWaiiba 5 1
12 02020030017 Konbuo ctonopHoe nanbua 2 38 02050050213 MpoBog, BbIKA. 3aXuUraHua 1

13 03090020018 MoAWMNHKK NaibLua NOPLIHA 1 39 02080020012 3arnywka 1

14 02020120023 Konensan 1 40 02070010162 Mpoknagka rnywwuTena 1

15 03090010028 MoAWwmnNHUK KoneHBana 2 41 02050010015 Fnywutens 1

16 03100010009 CanbHWK KoneHsana 2 42 03040020020 LWaiba 5 2

17 03060010002 LWt B3X10 4 43 03050010015 LWaitba 5 2

18 70070050038 KapTep, cTopoHa cTapTepa 1 44 03010010051 Bont raywurtens M5X55 2

19 02050100015 Mnarta cobayek craptepa 1 45 02070010019 Mpoknaaka nog Tennouns-p 1

20 02050070009 CrapTep 1 46 70030020016 Tennowusonatop 1

21 03020020029 BuHT M4X16 5 47 03020020012 BuHT M5X20 6

22 03070010001 LLinoHKa KoneHBana 1 48 02070010071 Mpoknagka nog kap6-p 1

23 02070010119 MpoknaakKa KapTtepa 1 49 02050020101 Kap6topaTop 1

24 70070050039 KapTep, cTopoHa maxoBuKa 1 50 070080120007 Onopa BO3A4YLIHOIO 1

dunbrpa
25 03010010058 BUHT M5X25 4 51 03020010012 BuHT M5X16 GB9074.3 2
26 02050030018 MaxoBuk 1 52 02020160564 3awuTa TonameHoro 6aka 1




LramMpPIoN

Power & force MNNocTpMpoBaHHbIM KaTasor 3anacHbIX YacTel Mogenb: T263

Ne ApTukyn HanmeHoBaHve K-Bo Ne ApTukyn HanmeHoBaHne K-Bo Ne ApTukyn HaumeHoBaHune K-Bo
1 61270030006 PeaykTop 1 32 70030180133 Ckoba noaseca pemHa 1 63 01040030002 O6onouka Tpoca rasa 1
2 03120020002 Konbuo cTtonopHoe 26 1 33 70030160007 XomyT 1 64 02040030003 3arnywKka wraHrm 1
3 03120010001 Konbuo 10 1 34 03040030002 LWaiba 5 1 65 02080020006 AmopTusaTtop BTYNKKN 6
4 03090010015 MoawwnnHuk 6000-2RS/P5 2 35 03010060053 BuHT M5X20 1 66 02040010003 BTysika Bana 8*14*14 1
5 02020090072 Ban-wecTtepHsa seaylwmit 1 36 02060040025 Hox 1 67 02020060034 Ban Hn3 703 mm 1
6 03020030014 BuHT M5X25 1 37 02110030004 Koxyx Hoxa 1 68 02010010095 LLtaHra HM3 26*1,5*%718 1
7 03020030021 Bont M6X12 2 38 02050060020 PemeHb 1 69 02020160293 MepexoAHWK Bana 1
8 80010040019 Kopnyc peayktopa 1 39 02050220013 TpuMMepHas ronoBKa 1 70 70070090016 MydTa wraHrm 1
9 02020160080 Yawka 3awuTtHan 1 40 61270090004 PykonATKa pabouas Komnaekt 1 71 03040020007 LWanba 10 1
10 03020020053 BuHT M5X12 4 41 03010010048 BuHT ST2.9X10 4 72 03060030005 dukcatop MydThI 1
11 03090010013 NoawunHuk 6000/P5 1 42 70030160079 PykoAaTKa paboyan Bepx 1 73 70030180089 Bont 1
12 02020090020 LLlecTepHsa Begomasn 1 43 70030160031 PykosTKa paboyas HW3 1 74 03010010024 Bont M6x35 1
13 02020090035 Ban BbixogHOM 1 44 61270040018 PyKoATKa ynpaBneHusa K-T 1 75 03040020015 LWaiiba 6 1
14 03090010014 MoawwnnHuk 6002-2RS/P5 1 45 03010010029 BuHT M5x14 1 76 03050010012 LWaiiba 6 1
15 03120020001 Konbuo ctonopHoe 32 1 46 02020160213 XomyT 1 77 02020060063 Ban Bepx (832 mm) 1
16 02020100020 LWaiba peaykropa A 1 47 03030060008 laiika M5 3 78 02010010072 LLitaHra Bepx 26%1,5*778 1
17 02020100012 LWaitba Hoxa 1 48 70030070164 PyKoATKa npasas NonosuHa 1 79 03030010013 Faiika M5 2
18 03040050014 Waiiba 10 1 49 02080020053 060n04Ka PYKOATKN 1 80 03010010059 BuHT M5*14 2
19 03030010007 laiika M10X1.25 1 50 70030180090 XomyT 1 81 70030030539 KpoHLWTeNH KoxKyxa 1
20 03060020004 WnanHT 2X16 2 51 03010010022 BuHT M5x20 2 82 03010010062 BWHT M5*20 2
21 61270020023 Kopnyc cuenn. komnn. 1 52 02050050078 BbikntouaTtenb 1 83 70030030527 KoXXyX 3aLmTHbIN 1
22 02020050019 BapabaH cuenneHus 1 53 70030070047 JNlanka 1 84 02010030001 MpoKnasKa Koxyxa 2
23 03120020004 Konbuo ctonopHoe 35 1 54 02020110039 MpyXuHa nankun 1 85 03040020020 LWaiba 5 4
24 03090010012 MoawnnHmk 6202-2RS/P5 1 55 02020110041 Mpy»u1Ha cTonopHoro pblyara 1 86 03050010015 LWaiba 5 4
25 03120010005 Konbuo ctonopHoe 15 1 56 70030070172 CTONOPHbIN pblyar 1 87 03010110119 BuHT M5%20 4
26 80010030039 Kopnyc cuennenuna 1 57 02020110040 Mpy*uHa pblyara rasa 1 88 70030180314 DapTyK KOoXyxa 1
27 02080020069 AMOpTU3aTOp WTaHMMN 1 58 70030070074 Pbiyar rasa 1 89 03010040025 BuHT 4,2*13 1
28 03010010058 BuHT M5X25 8 59 02050040045 Tpoc rasa 1 90 02020070037 Hosk 06pesku neckn 1
29 80010050068 Ckoba B 1 60 03010010046 BuHT M5x20 1 91 61270070015 KoXyX 3aLMTHbIN KOMN. 1
30 80010050049 Ckoba A 1 61 70030070216 PyKoATKa neBas NonoBUHA 1

31 03010010060 BuHT M6X20 4 62 03030010002 Faitka M6 2




